3 BAERER

=3¢
=)
=l
Tl

it

(opXdp]
U0 Ol
|
PP op
PO O
O1 Ot
T
I

fisie L —

B —n
e

PkZ oy AH—

(SP-G25HSP—-G25FH)

B & Ny Ry Ry
1. #akLU— VR 1~2 3~4 5~6
BN e T~y L o~10 | 11~12 |
S BORRREEE | 13~ 15~ie | a1
A4 e—sBE 19~20 | * T

##E. SP-G25FH KIEEBRIFMMENRE (SP-G25F) 2IBMILIN,

Emn 2 DD EUERR

2012.06



1. BEL—IVER (SP-G25H)

+
©w
»

110 104



1. WXL —ILEE %R (SP—G25H)

RN B B B W OB 4 W B T2 W%
G25H |G25FH
1 | 24301-1111-1 | V- £ 1 1
2 | 24301-1112-1 | V-1 K 1 1
3 | 24711-1131-1 | v=azr4vN E 2 2
4 | 24711-1133-1 | L—nAr4vN F 1 2 2
5 | 24711-1134-1 | L=-A240F F 2 2 2
6 | 24711-1141-1 | A&V NiE&R 4 4
7 | 02556-50060 | #7uyr vk M6 4 4
8 | 02127-50080 | 75 Fyk M8 4 4
9 | 04015-50060 | SEEE&: 6x18%1.2 4 4
10 | 01052-50616 | EF M M6X 16 4 4
11 | 04013-50080 | FEES: 8§x18x1.6 8 8
12 | 01023-50816 | AFAFILESW M8 16 8 8
13 | 24059-1124-2 | 7V %R&)7'45 4 4
14 | 24743-1154-1 | L—NGEER2 2 2
15 | 24145-1211-2 | #mxdh 1 1 1
16 | 04613-50100 | E Vv E-10 4 4
17 | 04612-50120 | @hfH ko S-12 2 2
18 | 24030-1127-1 | #xhh 3 1 1
19 | 24145-1214-1 | ey 4 1 1
20 | 24020-1128-2 | HEkdl 4 1 1
21 | 04613-50100 | E Yv¥ E-10 2 2
22 | 24020-1159-1 | AFAM/A 2 2
23 | 01020-50612 | SWikLk M6 X 12 2 2
24 | 24020-1129-1 | 7Y (R#Ek 6 12) 4 4
25 | 24001-1123-4 | 7-V12 (R#E 4 15) 4 4
26 | 05511-50330 | wyE'v $3.0%30 4 4
27 | 24080-1181-2 | APV F H—2 4 4
28 | 08141-06202 | F—AATYVY 6202DD 4 4
29 | 01050-50612 | AAKIE M6X 12 8 8
30 | 02024-50060 | MLEEFvh M6 8 8
31 | 24145-1281-1 | 7 —YRIL =N 4 4
32 | 01020-50625 | AFAFALLSW M6 X 25 2 2
33 | 04015-50060 | EEES: 6x18x1.2 4 4
34 | 01052-50635 | AAFIH M6 X 35 2 2
35 | 24145-1283-1 | RZL—~MAR 1 1
36 | 01052-50616 | AAFLVE M6 16 2 2
37 | 04015-50060 | EEES: 6x18%1.2 2 2
38 | 02024-50060 | MLEEFvE M6 2 2
39 | 24145-1286-1 | AZL—N"0 2(REE $12) 2 2
40 | 01052-50616 | AfAKLE M6x 16 2 2
41 | 24143-1183-1 | A7 mrvh22-22.815 1 1
42 | 01055-50612 | AAKLE M6X12(7T) 1 1
43 | 24185-1126-1 | A7'ukrvyh23.815 1 1
44 | 01250-50612 | +FRASARLL M6X 12 1 1
45 | 24145-1171-3 | Fvvavy7L—h 1 2 2
46 | 24301-1176-1 | Fvvavn'z $15.5X150 2 2
47 | 24020-1172-1 | Fvvavy7L—h 2 2 2
48 | 02024-50060 | MLEEFvH M6 2 2
49 | 24020-1173-3 | Fvvavy7L—h 3 2 2
50 | 24301-1176-1 | Fv¥avn'x $15.5%150 2 2

2012.06




1. #EL—VEE (SP-G25H)

110 104




1. kXL — L% (SP—G25H)

HiliNo B 5t B B w OB & B W OB %k W%
G25H |G25FH
51 | 24020-1174-1 | Fvyav 7=} 4 9 9
52 | 02024-50060 | MEEFvh M6 2 2
53 | 24031-1129-1 | $tu—Lig 2 2 2 | ABE=53~55
54 | 24081-1131-2 | #%o-3 4 4
55 | 02153-50080 | A#EFUh M8 8 8
56 | 24145-1141-1 | $pEo—nbh 3 3 3 | DB =56~60
57 | 24081-1181-2 | #g%uo-35 6 6
58 | 24341-1134-1 | fi&%uo—5 2 3 3
59 | 02113-50080 | AfFvb M8 12 12
60 | 04613-50060 | E yv¥' E-6 18 18
61 | 061-9511 BigL e 68 1 1
62 | 061-9520 [ S i 66 1 1
63 | 24143-1157-1 | &= 1 1 | B-CHUIR
64 | 02124-50080 | MLEEFvH M8 4 4
65 | 02024-50060 | MLEEFh M6 2 2
66 | 24301-1151-1 | #Bi—n 1 1
67 | 05411-00420 | R7YvIE Y ¢ 4.0X20 2 2
68 | 24301-1153-1 | #HBIL-VATBA 1 1
69 | 24301-1155-1 | ®BI -V TEB 1 1
70 | 01023-50816 | AFAFIVISW M8X 16 2 2
71 | 24711-9120-1 | ¥xR4-T7o¥ 1 1 | 72~80—=%
72 | 24711-9118-1 | ¥¥RA4—F 5 1 1 1
73 | 01023-50820 | AAFIISW M8X 20 2 2
74 | 04013-50080 | EHES: 8X 18X 1.6 2 2
75 | 24711-9119-1 | ¥xRA4—% & 2 1 1
76 | 04013-50080 | EEi&: 8X18X1.6 2 2
77 | 01020-50820 | AFAFIE M8 X 20 2 2
78 | 02556-50080 | Z7uyrFvh M8 2 2
79 | 05511-50320 | wyev $3.0X20 2 2
80 | 24145-9117-1 | i 2 2
81 | 24145-2313-1 | W=ZL—1 1 2 2
82 | 02024-50060 | MEEFyh M6 4 4
83 | 24059-2311-2 | Wi=H 1 1
84 | 24020-4211-5 | HekZH (Fvry) 1 1
85 | 24145-4529-1 | HeAkfHig 2 1 1
86 | 24020-4525-1 | HeAkF—2% 1 1
87 | 24020-4527-1 | h—ANVH 1 1
88 | 24020-6125-1 | ~AWkHN— 2 2
89 | 02024-50060 | MLEEFvh M6 2 2
90 | 24301-6112-1 | Hn'— 2 1 2
91 | 01455-40612 | /7 F Wk KT—2 M6X 12 1 1
92 | 24341-6113-2 | An— 3 1 1
93 | 01455-40612 | /7 HF Wk KT—2 M6X12 2 2
94 | 24301-9142-1 | ZRYFAVE An— 4 1 1| (AN—4)
95 | 01455-40612 | /7 ® Wb KT—2 M6X 12 1 1
96 | 24115-6129-1 | A= 4 #EBh 1 —
97 | 03054-50612 | FA/BRY M6X 12 2 —
98 | 24301-6121-1 | HN'— 4 A& E 2 2
99 | 01050-50616 | A<fAF b M6X 16 1 1
100 | 02024-50060 | MLEEFvH M6 1 1

2012.06




1. fEL—VEK (SP-G25H)

110 104



1. #EL—ILERfR (SP—G25H)

{E%x

FLHNo | 38 & & & wowm A W W = i %
G25H |G25FH
101 | 04013-50060 | FpEd: 6X 18X 1.2 1 1
102 | 07510-00060 | VAR A-60 2 2
103 | 07510-00115 | VALk A-115 2 2
104 | 24301-9145-1 | #teL—n 1 1
105 | 01020-50820 | AAFAE M8 X 20 2 2
106 | 04013-50080 | FEE&: 8X18X1.6 4 4
107 | 02505-50080 | Z7ayrFvb M8 2 2
108 | 24145-1141-1 | $%o—niil3 1 1
109 | 24341-1134-1 | #E%u—52 2 2
110 | 02013-50080 | ATk M8 4 4
111 | 04618-50060 | EUL% E—6 4 4
112 | 24301-9146-1 | fHEL—ER K 1 1
113 | 24301-9147-1 | L —VIERA 1 1
114 | 01020-50816 | ASAFLL M8X16 4 4
115 | 02124-50080 | MLEEF b M8 4 4

2012.06



2. fEEEEERE (SP-G25H)




2. FBFEEEMR(SP—G25H)

FLEENo.[ 38 & & 5 F S S A ) M = W
G25H |[G25FH
24301-2020-1 | HEFEEEETYY —3 1 1 | 2~127
2 | 24341-2111-1 | #fEkRy R 1 1
3 | 24080-2112-1 | P> xo& 1 1 | 7000184k~
3 | 24030-2112-2 | W xv& 1 1 | 10001 =4~
4 | 01850-50612 | #ERLE M6 X 12 2 2
5 | 04013-50060 | SEHES: 6X18x1.2 2 2
6 | 24341-2127-1 | ¥ S (¢10) 1 1
8 | 02505-50080 | AARLESW M8x 12 2 2
9 | 04013-50080 | EEEL 8§X18X1.6 2 2
R &
11 | 01455-40612 | /7HFrk KT—-2 M6X 12 2 2
12 | 24341-2113-2 | #h=21 1 1
13 | 24341-2114-2 | #4522 1 1
14 | 01022-50612 | AAFRILESW M6X 12 6 6
15 | 04013-50060 | FEES: 6X18X1.2 4 4
16 | 24341-2211-1 | FFy/3&1 1 1
17 | 02024-50060 | MEEFvh M6 2 2
18 | 01052-50616 | AAFLE M6X 16 2 2
19 | 24341-2293-2 | Ry (G YFF1 1 1 | 7000154~
19 | 24341-2293-3 | ky’EYFFL 1 1 | 1000154~
20 | 01022-50612 | AFAFLLSW M6 X 12 4 4
22 | 24841-2294-1 | Ry 8BV FF2 1 1
23 | 01022-50612 | AARLISW M6X 12 2 2
24 | 04012-50060 | FEES 6X13%X1.0 2 2
25 | 24145-5133-1 | 7—=#& 1Im(7V=V) 1 1
26 | 04412-50060 | sh#EEE&(MAY) M6 1 1
27 | 24341-2212-3 | FKyiE2 1 1
28 | 24058-2223-1 | 7y 6 6 | EE&3ME
29 | 24187-2272-1 | Fy8EYV A 2 2 | EAEUAE
30 | 01052-50616 | AAFLE M6X 16 2 2
31 | 02024-50060 | MLEEF vk M6 2 2
32 | 24030-2241-1 | Fv¥avA7uryhTil 1 1
33 | 53022-4483-1 | Fyiavs—UEEE 151X 24X 0.8 2 2
34 | 04612-10150 | dilFH 1Dl S-15 2 2
35 | 24030-1166-1 | HANN* 2 2 | EAE&UE
36 | 24145-1168-1 | HARZAHEHR 2 2 | EAEE
37 | 01407-50612 | {bkExRT NO,3%! M6x12 2 2
38 | 24030-2140-1 | v—iHAR (5efidm) 1 1
R %
40 | 01020-50612 | AAFRNLISW M6x12 4 4
41 | 04018-50060 | B4 6X18%1.2 4 4
42 | 24058-2120-1 | {Ev—n Tyv (kv 1 1 | 43~45&%
43 | 24058-2217-2 | BET—LTFLY 1 1 1
44 | 24058-2228-2 | #BEET—LTFLY 2 1 1
45 | 03514-50416 | FREVEVFRY M4 X 16 8 8
R &
47 | 24058-2218-6 | #REEUT—/ L 1 1
48 | 04612-10150 | &hifH IR §-15 4 4
49 | 05712-05515 | ¥— Wik 5%5%15 1 1
50 | 53022-4483-1 | Fv i av S —VEE 15.1X24X0.8 2 2

2012.06







2. IBRIEEBEBR(SP—G25H)

SNo| BE B B B W M & B W Om 1% T
G25H |G25FH
51 | 53042-3428-1 | F= S 152X 24X 1.6 1 1
52 | 05516-50160 | 1k®HEY (BE) R16B 1 1
53 | 24030-2219-1 | w—nAT7S5Y 1 1
54 | 04612-10100 | #lifH kbR $-10 2 2
55 | 24030-2221-2 | a— AT VX AK 2 2
56 | 02013-50060 | A<fFvb M6 4 4
57 | 24058-2225-4 | #Hu—L 1 1
58 | 24011-1171-2 | E—ME7 vV 2 2 2
59 | 04612-10100 il FH 1k 5Dl S-10 2 2
60 | 24058-2261-2 | AFubrvhl12 1 1
61 | 01055-50612 | AfAFLb M6X12(7T) 1 1
24058-2220-1 | RZL—r3Evh -3 1 1 | 62~65
62 | 24058-2229-1 | m—nRZL—7% 28 28
63 | 24058-2231-1 | AZL—s%4kAdH 2 2
64 | 24058-2232-1 | H5—15-10-9 27 27
65 | 24058-2233-1 | H5—15-10-48 2 2
66 | 02024-50060 | MLEEFh M6 4 4
67 | 24058-2235-2 | 751 %H 1 1
68 | 24030-2236-1 | TS5 170L X 35.5 2 2
69 | 24058-2237-2 | fRT I 1 1
70 | 02024-50060 | MEEFvh M6 4 4
71 | 04013-50060 | FHE&: 6x18x1.2 2 2
72 | 02800-50060 gk M6 2 2
73 | 24058-2238-3 | ZF5vFT—A 1 1
74 | 02556-50060 | Z7uvZFob M6 1 |
75 | 04014-50060 | FHE&: 6X22X2.3 1 1
76 | 24051-2133-2 | T—iFxv T 1 1
77 | 24030-2241-1 | Fv a2 urviTIl 1 1
78 | 04612-10150 | Wl badBR §-15 1 1
79 | 24058-2243-3 | UL Z AT ulrvh2 1 1
R &
81 | 01022-50612 | AARAISW M6 12 1 1
82 | 04014-50060 | FEES 6X22X2.3 1 1
83 | 24058-2246-1 | FyvavT—Al 1 1
84 | 02556-50060 | Z7uvrFuk M6 1 1
85 | 04013-50060 | FHEi&: 618X1.2 1 1
86 | 24030-2241-1 | FvvavA7uryiTIl 1 1
87 | 04612-10150 | #liFH koD §-15 1 1
88 | 24058-2247-3 | Fvvav AT Y] 1 1
89 | 01152-50655 | AAFRLE M6 X 55 1 1 | (RBI#AD)
90 | 02024-50060 | MLEEFvH M6 2 2
91 | 24058-2248-3 | H&FEERENHN 1 1
92 | 53042-3428-1 | Fx S 15.2X24%1.6 2 2
93 | 53022-4483-1 | Fvvav/—Ul& 15.1X24x0.8 1 1
94 | 04612-10150 | dili A (koD S-15 1 1
95 | 24058-2249-2 | HBEEERE)F % (20T) 1 1
96 | 24301-5112-1 | 20T%¥ 1 1
97 | 03054-50512 | FRUNFRY M5% 12 2 2
98 | 24058-2251-1 | 74#—A%'Y60 1 1
99 | 04015-50060 | FHE4: 622X 1.6 1 1
2012.06




2. BIELERRE (SP-G25H)




2. EIEEERMBZR(SP—G25H)

N T R K B B W & B Wow %k W%
G25H |G25FH

100 | 01022-50612 | AAFLISW M6 X 12 1 1

101 | 24058-2252-2 | Hyo i 1 1

102 | 53022-4483-1 | Friavr—VEE 151X 24 0.8 2 2

103 | 04612-10150 | @l ik §-15 2 2

104 | 05516-50160 | ikdEY (BJE) RI16B 1 1

105 | 24058-2253-2 | ¥¥60 1 1

106 | 01052-50616 | AAFLL M6 X 16 1 1

107 | 24059-2254-1 | 27 uArvh15-17/VH] 1 1

108 | 24058-2255-2 | A7 mroh19-24/Nv] 1 1

109 | 24030-2256-2 | Fviav T —Ah2 1 1

110 | 24030-2241-1 | Fv¥avA7ulryhTIl 1 1

111 | 04612-10150 | dilFH kbR S-15 1 1

112 | 01022-50612 | ASAFLISW M6X 12 1 1

113 | 04013-50060 | SEEES: 6X18x1.2 1 1

114 | 24059-2268-2 | /7 FNL138 1 1

115 | 24059-2282-2 | #5—15-10-28 1 1

116 | 24030-2241-1 | Fr 3 avzx7urvyhTil 1 1

117 | 24058-2258-3 | IEA&E 1 1

118 | 24058-2259-1 | 7 uir b8 1 1

119 | 01055-50612 VaY: D) M6X12(7T) 1 1

120 | 24030-2121-3 | ik 1 1

121 | 24030-5111-2 | ER@jA7u%vh10-12.812 1 1

122 | 03456-00608 | NARMIERT (IFIE) M6X8 1 1

123 | 24301-5301-1 | /NEUEYPE—NLSENH 40W. 1/65 1 1 [24020-5301-24LF8
124 | 01020-50612 | AFAFAISW M6X12 4 4

125 | 24341-6111-1 | B3 —1 1 1

126 | 01455-40612 | /7 Hik KT-2 M6x 12 1 1

127 | 24058-6312-1 | Fxv 2 (IBEEFHIRH) #410—520v 7 1 1

128 | 24058-6313-2 | F=> 3 #410—-38Yv 7 1 1

129 | 07604-11840 | Fx=1-410-184 H#410—184Y07 1 1| GigERk)

2012.06



3. BTEKEERR (SP-G25H)




3. BT E/KEERR(SP—G25H)

o8 M B Bl OB OB 4 B o %k %
G25H |G25FH

1 | 24143-3111-2 | LAy % 1 1 | 7000154~

1 | 24301-3111-1 | BEAHy < 1 1 | 1000154~
2 | 01022-50612 AATFLRSW M6X12 4 4

3 | 24301-3125-1 | BAAy SR 1 1 | 1000154~

4 | 24301-3126-1 | FEMALIHRIEDEE 2 2 | 1000154~

5 | 02024-50060 | MLEEFwh M6 4 4 | 1000154%~
6 | 24143-3112-2 | BLA 1 1
7 | 24020-3113-1 | #w#pc 1 1
8 | 24143-3117-1 | B2 2 2
9 | 02024-50060 | MLEEFh M6 4 4
10 | 24185-3211-1 | LAy 351 1 1
11 | 01052-50616 | AAFLE M6X 16 2 2
12 | 02024-50060 | MEEFwh M6 2 2
13 | 24185-3212-1 | BEA&y/ G2 1 1
14 | 01052-50616 | AAFLL M6x 16 2 2
15 | 02024-50060 | MLEEF b M6 2 2

16 | 24020-3260-1 | B+ o—5ASSY (AT 2 2 | 17~19&%
17 | 24020-3115-2 | Bt+o—5 2 2
18 | 24020-3116-2 | Bt+ou—5750Y 2 P)
19 | 24020-3117-2 | B+u—S575L2 2 2
20 | 24020-3229-3 | IV ARTAARI= (a'h) 1 1
21 | 24020-3218-2 | a7l 1 1
22 | 05712-05515 | ¥— R 5X5%X15 1 1
23 | 24058-2223-1 | Fyia 2 2
24 | 53022-4483-1 | Fv i av S —URES: 15.1X 24X 0.8 4 4
25 | 53042-3428-1 | FzLliEESE 152X 24X 1.6 2 2
26 | 04612-10150 | Wi 1k S-15 2 2
27 | 24073-3219-1 | av_7#E2 1 1
28 | 53022-4483-1 | FvIav/—UEEE 15.1X24X0.8 1 1
29 | 53042-3428-1 | FzlllES& 152X 24X 1.6 2 2
30 | 01052-50650 | AfaBLk M6% 50 2 2
31 | 24030-3231-1 | F>av7—A3 1 1
32 | 24030-3232-1 | Fv3a215-19-18 1 1
33 | 24030-2241-1 | Fv¥av A7 ybTIL 1 1
34 | 04612-10150 | fuliH kDR §-15 1 1
35 | 24068-3241-1 | Fv i av \xl 1 1
36 | 24030-3224-1 | Z5yF7—L2 1 1
37 | 24030-3232-1 | F'wi-=215-19-18 1 1
38 | 24051-2133-2 | 7—AF¥xv T 1 1
39 | 24030-2241-1 | Fv i avA7urryhTIL 1 1
40 | 53022-4483-1 | Fviav/—UEES 151X 24 0.8 1 1
41 | 04612-10150 | dlF 1ED#R §-15 1 1
42 | 07604-10780 | F=x> 410-78 H410—T78Yv % 1 1
43 | 24058-2243-3 | Yo A7 uir b2 1 1
44 | 01022-50612 | AAFNLISW M6X 12 1 1
45 | 04014-50060 | FEE& 6X22X2.3 1 1
46 | 24020-3228-2 | BhIxvH 1 1
47 | 24030-3228-1 | B 7517 —A 1 1
48 | 01052-50612 | AAFLL M6x 12 1 1
49 | 24051-2133-2 | 7—AF ¥/ 1 1

2012.06




3. BT EKEEMSR (SP-G25H)




3. BT EKEERR(SP—G25H)

HHNo | 58 i & 5 FE O S A W = s
G25H |G25FH
50 | 24020-3234-1 | ™K 1 1
24301-4101-1 | BEAILESSH -3 1 1 | 52~119&%:
52 | 24145-4211-1 | ¥EAK4H 1 1
53 | 24058-4117-4 | 4 &HA 1 1
54 | 03024-50612 | FRINRTUSW M6X 12 2 2
55 | 24145-4181-1 | %8I+ 2 2
56 | 03024-50612 | FAR/NERTSW M6X12 2 2
57 | 04015-50060 | FHES 6X18X1.2 2 2
58 | 24030-1166-1 | HAR % 2 2
59 | 24145-4217-1 | Fh3— 1 1
60 | 03024-50612 | FR/PRISW M6X 12 2 2
61 | 04013-50060 | FHEE& 613X 1.0 2 2
62 | 24173-4219-1 | 754 vh 1 1
63 | 03054-50612 | F~IhERY M6Xx 12 2 2
64 | 04012-50060 | EHi&: 6X13%1.0 2 2
65 | 24073-5118-1 | IAT v o ruxyh 1 1
66 | 24030-4120-2 | ~=k—ART IV (FHATEY) 1 1 | 67~79%R%E
67 | 24059-4131-3 | ==F—iR BA 1 1
68 | 24030-4141-2 | F—RVaAfrb 2 2
69 | 24059-4139-2 | 74n%& SUS 60Avy/a 1 1
70 | 24059-4133-2 | Fxv 71 1 1
71 | 04812-00200 | O VL% P20 2 2
72 | 24080-4132-1 | <A 1 1
73 | 24059-4138-4 | #I X% 1 1
24059-4130-1 | =—Frar 7 1 1 | T4~T8ERH
74 | 24059-4134-2 | =—FKiL 1 1
75 | 04812-00060 | O UL P6 1 1
76 | 24059-4135-3 | /7 1 1
77 | 03455-00606 | AASRAFIERY (FER) M6 X 6 1 1
78 | 24059-4136-2 | FL—h 1 1
79 | 03054-50412 | FANFRY M4 X 12 1 1
80 | 24059-4143-1 | Yy—7kK—2R 1 1
81 | 24145-4187-1 | F—2=NUR 20 2 2
82 | 24051-4142-1 | BREFH 1 1
83 | 24030-4158-1 | *v¥xv A 3 3
84 | 24145-4165-1 | TR 1 1
85 | 24059-4110-1 | A—&7v¥ (KA 1 1 | 86~92f#0
86 | 24059-4119-4 | A—&— (FRERF) 1 1
87 | 24030-4156-1 | R—13 1 1
88 | 24030-4155-3 | 7u—RFYLT 1 1
89 | 24030-4157-2 | ARkws¥ 1 1
90 | 04812-00150 | O U % P15 1 1
91 | 24080-4153-2 | 7u—V& vk 1 1
92 | 24059-4121-4 | 7u—r3A7 1 1 | 91&de
93 | 24059-4133-2 | Fxv 71 1 1
94 | 04812-00200 | OVLS P20 1 1
95 | 24115-4118-1 | F+—X 1 1
96 | 24115-4123-2 | "Fa—A~YR 1 1
97 | 24115-4124-1 | ¥=yh AN 1 1
98 | 24115-4186-2 | Fxv 73 1 1
2012.06




3. BTEKEERR (SP-G25H)




3. BTEEKEERR(SP—G25H)

FLHNo 38 & & 5 w4 W WM = i %
G25H |G25FH
99 | 24051-4138-2 | AHEAR 1 1
100 | 24030-4171-2 | #EKFYFX 1 1
101 | 24111-4189-5 | 2’%4F 2 1 1
102 | 24058-4111-4 | /R 1 1
103 | 24031-4112-3 | T 1k 1 1
104 | 24151-4178-1 | F7'50 1 1
105 | 24067-9115-2 | AAYFRyZ R 1 1
106 | 01223-50612 | +FRENARLISW M6X12(7T) 1 1
107 | 24051-4153-1 | &V#1 1 1
108 | 03054-50316 | FINERY M3 X 16 2 2
109 | 04512-50080 | NER¥HFR M3 2 2
110 | 24051-4159-4 | AAOF X 1 1
111 | 24058-4142-3 | =2—K3 L=3600 1 1
112 | 24051-4158-2 | a—Rpzs L=2 1 1
113 | 24058-5116-2 | |iEa—FK L=2030 1 1
114 | 24030-5316-1 | =—&2—K (ax741%) L=1380 1 1
115 | 24059-4166-2 | xA Y5V 7 (FRfa) 1 1
116 | 24059-4161-1 | R FYTZAYF 6P 1 1
117 | 24001-5117-1 | dba¥Fxv7 1 1
118 | 24051-4145-1 | 2vE&VH 1 1
119 | 03054-50312 | F_/NERY M3X 12 2 2
120 | 24115-4122-1 | &EAALTS 1 1
121 | 24301-8115-1 | N¥a—A~yNHifHR 1 1
122 | 24058-8116-1 | Ak¥egs 1 1
123 | 24030-8123-1 | JZANVEHTSY 1 1
124 | 24001-6111-4 | REFSTER 1 1
2012.06



4. I—9Bf% (SP-G25H)

R

W= —
T —ST—r
\f,.:/é’.-.fl/"

~

=

=




4, T— 1% (SP—G25H)

SNo|HE B B B| W OB A W oo %L %
G25H |G25FH
1 | 24311-6211-1 | #tkbabR 1 -
24312-6211-1 | Metkestn — 1
2 | 24301-6212-1 | ~—2ktE 2 —
24302-6212-1 | =—ZHiks — 2
3 | 24145-6213-2 | =—2av~ 2 2
4 | 24058-6214-1 | =—ZAY] 2 2
5 | 24073-6215-1 | v~ —/#RfEE 1 1
6 | 24030-6216-2 | =—ZF = DHNTH 1 1
7 | 24388-6217-1 | = —2iEk 1 1
8 | 24073-6219-1 | »—rEFH 1 1
9 | 24059-6223-1 | ~—ZHhHk\> 1 1
10 | 24030-6225-2 | ~—2iRHETE4H 1 1
11 | 24143-6237-1 | =—2rx—71 1 1
12 | 24143-6238-1 | ~—2rx—72 1 1
13 | 24311-6263-1 | ~—ZksfE H 2 2
14 | 00102-1001-1 | ~—2ElEEREE 3 3
15 | 00102-1002-1 | w—r/EEELE 1 1
16 | 24145-6265-1 | = —2ifiz 1 1

17 | 24301-6611-6 | BukSinHE SP—G25 1 1 | 185
18 | 24311-6611-1 | Budkings SP-G25H 1 1
19 | 24151-8112-1 | ZeA{ci3imE 1 1
20 | 24301-6651-2 | FEMEBHE 1 1
21 | 24301-6621-1 | FxAA—HUfEE4E 1 1
22 | 00102-1011-1 | fRaFsE 1 1
23 | 24301-6657-10 | HEALBEANE 1 1
2012.06



RO

AR ADDRMEFA

T997-0011

g REBRTEHS TH18—-40
TEL 0235(23)1111  FAX 0235(23)1110

URL: http://www.konma.co.jp



